(

3. UDL SCl H=7|
UDL SERIES PLANETARY CONE & DISK STEP-LESS SPEED VARIATOR

) 88



I
N
b
o

3.1. Exploded view

Uzt &l

2H Y (AFZE)

x| Z~

ZTELIANRE

1 straight pin 12 Circlip for shaft 23 Locating piece 34 Regulating screw rod

2 [IE =] 13 Eaisl c|A3 opE Hlo{3 24 L] 35 e &
Input Flange Planet disc friction bearing Cap Handwheel

g B2 2UFHEH 23T |, 21 #2101 o5 |BAMEZLAHEHR2IT | 40 U} =
Hexagon socket head cap screw| Planet carrier Hexagon socket head cap screw| straight pin

4 o ag ol 15 Z¥ ks 12l go|l~ 26 E0 A2 37 28
Fixed annulus race Adjustable annulus race Rubber gasket o-ring
2 Ex0lE U EH1 CEE

o oli seal 16 Ball jjoint 27 oil plug 38 Parallel key
A9 (AFZE) e ZE Hlof2

= —_

6 Circlip for shaft 17 Ball ring 28 Nameplate 39 Bearing
M ] HARE HE EST

’ Washer 18 Cam ring 29 Hexagon nuts 40 Circlip for hole
Belleville 2= 2! XL E FH 2AME LG

8 Belleville spring 19 straight pin 30 Rubber insert 41 Bearing

g |EFrsEM0IL o0 |2=d 3q | 2O 4o EHAZE
Adjustable sun race spring Oil level indicator Low speed shaft
Eulcia3a AHo|A EE ENTET]

10 Planet disc 21 Case 32 Bolt 43 Circlip for hole
b FEI T ES =HES ENEIE S R

11 Fixed sun race 22 Regulating block 33 Hexagon nuts 44 oli seal

89




N N\ \
\ N \
3.2. &I M= 3.2. STEPLESS SPEED VARIATOR SELECTION
CHARTS
P, i TYPE n, min” n, min’ Mz.Nm M, Nm
(kW) max min min max
0.18 1.6-8.2 UDL002 880 170 15 3 632-4
0.25 14-7 UDL005 1000 200 2 6 711-4
0.37 1.4-7 UDL005 1000 200 3 6 712-4
0.55 1.4-7 UDLO010 1000 200 4.4 12 801-4
0.75 1.4-7 UDL010 1000 200 6 12 802-4
1.1 1.4-8.2 UD020 1000 170 9 18 90s-4
1.5 1.4-8.2 UD020 1000 170 12 24 90L-4
2.2 1.4-7 UD030 1000 200 18 36 100L1-4
3.0 1.4-7 UD030/050 1000 200 24 48 100L2-4
4.0 1.4-7 UD050 1000 200 32 64 112M-4
5.5 1.4-7 UD100 1000 200 45 90 132s-4
7.5 1.4-7 UD100 1000 200 59 118 132M-4
33.98= =M 3.3. Input flange / shaft dimension
— o=zl a
@ =K
©
PAM
IEC P N,. M o D, b t T
UDL002 63B5 140 95 115 M8 1 4 12.8 4
[UDL005 71B5 160 110 130 M8 14 5 16.3 5
[UDLO10 80B5 200 130 165 M10 19 6 21.8 6
[UD020 90B5 200 130 165 M10 24 8 27.3 6
[UD030/050 100B5/112B5 250 180 215 M12 28 8 31.3 6
[UD100 132B5 300 230 265 M12 38 10 41.3 6
() 90
N\ N N \
\ \



[ N [ [

3.4. MOUNTING POSITIONS

V3

> ZX|MClojo{1 M

H=E EXIM

> POSITIONS DIAGRAM

Hand-wheel position

|

U]

=

. re—rm—

4 @
Va4

¢

» POS. of terminal box

&

91




[ N [ [

\\
3.5. H&7| =0 3.5. SPEED VARIATOR DIMENSIONS
CHARTS
L KD KD
K KA
© g
M HhE 4
B | | o il‘
B, ‘ ¥
I E==.l ey I.‘l“[ -E=E Al . > L
7 B i DT mﬁ /\
ct a Y- w
T T
4xo1 | \ M2
(S M1
H1 H
TyPE B |Dj6)] C|C1| E | h ([h1| K| L (M1([M2(01|KA|KB|KC|KD|KD1KE| b | t f | X|y | Z
UDL002B3-0.18 23 | 11 | 105 (175 80 | 145 | 120 | 87 |134.5| 110 | 71 9 71 {113 | 78 | 113 | 113 | 70 4 [125]| M5 | 207 [ 130 | 10
UDL00583-0.25 30 | 14 [ 104 | 195| 93 [ 149 | 125 | 102 [138.5{ 120 | 96 | 9 | 71 {125 91 [ 113 [ 113 [ 70 | 5 | 16 [ M5 | 225 | 145 | 10
UDL005B3-0.37
UDL010B3-0.55 40 | 19 | 125 | 35 | 113 | 190 | 150 [127.5]183.5| 160 | 135 [ 11 | 79 | 142 [ 107 [ 120 {120 | 85 | 6 [215] M6 | 255 [ 175 | 15
UDL010B3-0.75
UD020B3-1.1 50 | 24 [ 140 | 49 | 125 | 230 | 170 | 154 [221.5( 180 | 130 | 13 148 | 127 (140 - | 85 | 8 | 27 [ M8 270 | 195 18
UD020B3-1.5 295 | 195
UD030B3-2.2 505 | 215
UD030/050B3-3.0 60 | 28 | 230 | 25 | 150 | 300 | 270 | 191 | 282 | 245 | 190 | 14 181 | 158 | 150 | - | 120 | 8 31 | M8 25
UD050B3-4.0 340 | 240
UD100B3-5.5 80 | 38 [ 250 | 32 | 200 | 365 | 290 | 200 | 333 | 315 | 225 | 18 218 | 193 | 182 | - [ 120 ] 10 | 41 [ M10 390 | 275 30
UD100B3-7.5 430 | 275
G KD KD
. G3 _ KA
ireni| .
] T 0 =
=zl == @ gl
= p 4id)
1 Alx X
i e b |
o P =
Lf .nnuuuu *
11}
\ 18 /‘ [e)
4x01 \ M1 \
T c1 (o] H
M
TyPE B|D6)]C| G|G3|E|h | MMM N|O|O1|P | T |C1 KAIKB([KCIKDKD1KE| b |t | f [ X |y
UDL002B5-0.18 23 | 11 [ 50 |1115| 64 | 70 | 72 [115] 60 [ 95 | 9 | M6 [ 140 | 35| 46 | 75 [ 113 | 78 [ 113 | 113 | 70 | 4 |125| M5 | 207 | 130
UDL005B5-0.25 30 | 14 | 40 [ 108 |715| 80 | 90 | 130 | 77 | 110 | 9 | M8 | 160 | 3.5 {51.5] 75 |125| 91 | 113 [ 113 ]| 70 | 5 | 16 | M5 | 225 | 145
UDL005B5-0.37
UDLO01085-0.55 40 | 19 | 58 |143.5/87.5( 100 | 98 [ 165] 84 [ 130 | 11 | M8 [ 200 | 3.5 | 62 |825| 142|107 [ 120 {120 | 85 [ 6 |21.5[ M6 | 255 | 175
UDL010B5-0.75
UD020B5-1.1 270 | 195
50 | 24 174 [106.5] 111 | 230 | 165 130 | 1 200 | 3.5 108.5] 148 | 127 | 140 85 | 8 | 27 | m8
UD020B5-1.5 295 | 195
UD030B5-2.2 205 | 215
UDO030/050B5-3.0 60 | 28 222|131 | 136 | 265 | 215 180 | 15 250 | 4 131 | 181 | 158 | 150 120 8 | 31 | M8
UD050B5-4.0 340 | 240
gg;ggggﬁg 80 | 38 263 | 130 | 185 265 230 | 19 300 | 4 163 | 218 | 193 | 182 120 10 | 41 | M10 z:z 2;:
() 92
\\\
AN

/

Y



I [ [ [ | H  EEEN ‘
\ | N\ NN

2.19. UDL + NMRV =M 2.19. UDL + NMRYV Dimensions charts
L
G VR VR
H | G3
S c )
A —’I I‘— %)
{1 ~ § i >
D r— = i P
- " (Feald)\ |
= [ g
(O) O O 7—
f =l ) w ©
=l Al — _ =
o L
T T L LA A LAJ
G1 KE N K
M N1
P G1
A| C |Dg| b t E|[G|(G1(G3| h 1 L|{M|Ng|/N1({O | P |aq S| T|V|VF|(VR|(VS|VL| K | KE a
UDL002-NMRV040 181.5 134 438.5 153 [ 113 | 70 | 118 M6x8
] ] ] 60 XS | 45
UDL005-NMRV040| 70 | 100 | 18 | 6 [20.8|121.5( 178 | 78 [141.5| 50 | 40 |453| 75 | 60 | 73 | 65| 87 | 55 | 65| 26 | 35 [ 165 113 | 70 | 131 (n=4)
UDL002-NMRV050 191.5 144 458.5 163 | 113 | 70 | 128 M8x10
17 ) | | it 70 45
UDL005-NMRV050| 80 | 120 | 25 | 8 [28.3]| 144|188 | 92 [151.5| 60 | 50 |473| 85 | 70 | 87 | 85 [100]| 64 | 7 | 30 | 40 [175]| 113 | 70 | 141 (n=8)
UDL005-NMRV063 ; sl ) 174 204 o 167.5 ) 501 ) » 188 | 113 | 70 | 154 n=8) | .
UDL010-NMRV063 00 o I i 239.5 183.5) " 63 566.5) 95| 80 1106 8.5 1110 80 | & | 36 | 50 205120 | 85 | 170 85 | maxta | 4
UDL010-NMRVO075 256.5 200.5 597.5 217]120] 85 182 | | wBx14 | 4
UD020-NMRV075 | 120|172 28 | 8 [31.3| 205|287 | 120 |219.5| 86 | 75 | 668 | 115 | 95 [ 114 [ 11 [140| 93 | 10 | 40 | 60 | 223|140 85 | 202 (n=8)
UDL010-NMRV090 273 217 631 232|120 | 85 [197 |, [M10x18 45
UD020-NMRV090 | 140|206 | 35 | 10 [38.3| 238 | 304 | 140 [236.5| 103 | 90 | 702 [ 130 [ 110 [ 134 [ 13 (160 (102 [ 11 [ 45 | 70 | 238 | 140 | 85 | 217 (n=8)
st Lli ALY 303.5 247.5 686 252120 | 85 | 217
UDL010-NMRV110
UD020-NMRV105 | 170 [252.5( 42 | 12 [45.3 [ 295 155 127.5 110 165 [ 130 [ 148 | 14 | 200|125 | 14 | 50 | 85 115 [M10X18] 45
334 266.5 756.5 258 | 140 | 85 | 237 (n=8)
UD020-NMRV110
UD030-NMRV105 s34 5
UD030-NMRV110 )
UD050-NMRV105 382 291 E 291 | 150 | 120 | 268
UD050-NMRV110 :
UD020-NMRV130 354 286.5 796.5 278|140 | 85 | 257
UD030-NMRV130 | 200 |292.5( 45 | 14 |48.8| 335|402 [ 170 | 311 [147.5| 130 |874.5( 215 | 180 | 162 | 16 | 250 [ 140 | 15 | 60 [ 100 | 311 [ 150 | 120 | 288 | 120 '\"(:12:52)1 45°
UD050-NMRV130 402 311 889.5) 311 150 | 120 | 288
() 84



m_____ man|]

N\
\
Oey Q.ty of oil in litres

UDL UDL002 | UDLOO5| UDL0O10| UDO20 (UD030/050 UD100
B3
B8 0.13 0.15 0.33 1.2 2 35

B6-B7
V1
0.2 0.25 0.45 1.5 2.5 4
V3
) 19
N\

\

\





